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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any five. All questions carry equal marks.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. Efficiency may be the best proxy for welfare in
evaluating specific legal rules. Discuss. (15)

fafire &Rt Aol & AT A qer (efficiency) SHeamT
& o aaiaw wiefAfr &t g 31 R Sk

2. (a) Suppose Latika owns an apartment that she values

at Rs.2 crores, but Sanjay offers Rs. 2.10 crores
to buy it and they reach an agreement. However,
before Sanjay actually takes possession, Nisha
‘offers, Rs. 2.5 crores for the apartment and Latika

sells it to her.

(i) Was there a valid contract between Latika

and Sanjay?

(ii) If so, what would the court need to know
to compute the expectation damages owed
to Sanjay? Is it necessarily true that breach

is efficient here?

(iii) Describe the likely outcome under a
specific performance remedy. (2+2+4)

(b) Explain the means-ends distinction in the use of

eminent domain. Why does the reasoning get
strained when the two approaches are used
inappropriately to justify the use of eminent
domain? (5+2)
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Suppose the government wants to provide additional
schooling in your locality. The choices available to
the government are (i) contract with a private party
to build the school. The private party will also run the
school either on its own or subcontract to another
private party, and (ii) contract with a builder to build
the school and then later with another private party to
run it. Discuss the optimality of investment decisions
(both productive and non-productive) under both
options. What are the considerations that guide the

government’s choice between the two options?
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Explain Ronald Coase’s critique of the Pigouvian
approach to externalities using an example. (15)
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(a) Show how there is a tendency towards over
acquisition of priifateproperty under eminent
domain when market value is used as the standard
for compensation. (5)

(b) What is trademark law? Briefly explain economic
functions of Tradema'rk-'-law. (5)
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(F) A FHEA M B? TTAH HET D AE FE A
8T § FHET

(a) Consider a contract between buyer B and seller S
for the delivery of a good that S must produce.
Suppose that the value of performance to the
buyer, V, and price, P (payable on delivery) are:
V =Rs. 250, P = Rs. 120. Suppose that the seller’s
cost of production turns out to be 275. Describe
the bargaining between the buyer and the seller
under a specific performance remedy. Will
performance occur? (5)
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(b) Consider the asymfnetric information model of
litigation. Suppose there are two types of plaintiffs:
a fraction a of plaintiffs have a probability of
victory of 0.80, and 1 - o fraction have a zero
probability of victory:.‘- Defendants cannot observe
an individual plaintiffs type prior to trial, though
they know the fraction of each type in the
population. The monetary judgment that the plaintiff
will recover if she wins is Rs. 40,000 and the trial
costs of the defendant and the plaintiff is Rs. 4000

each.

(1) What is the defendant’s expected cost in
pooling strategy and separating strategy.

(ii) For what value of a, will the defendant
prefer the pooling strategy over the

separating strategy? (4+4)

(3) \¥R B 3R fdar S & @9 vw awg @ faaww @
FEy W fer = S fF S @ sEwd I &
=Y 7= AR fF @R = wed = & T, V, 3R
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7. What is just compensation? Discuss the problems

associated with awarding market value compensation.

(5+10)

HRARE FIST FA B ? AR Hed AT o F S TS
Fr fadme w0

8. When transaction costs are high, liability rules are

preferred over property rules. Explain why. Would

the choice be affected in the presence of court errors

in setting damages? (10+5)
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TE AT - o & AN e B 2, A guty FRae (property
rules) W 3aar @ (liability rules) =t wrofierar & s
2 | FHEET W 0w B @ fufor ¥ seed gleal @
Sfafe ¥ fawen s B 2

9. Write short notes on any three : (5x%3)
(a) Patent Race

(b) The Reserve Clause in Major League Baseball as
an example of Coase Theorem

(¢) The due-care standard

(d) Last Clear Chance
sl &9 W Hfeg oo forfRag
(31) ¥ W@
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